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\Study the table below and answer the given question.
Data related to salary structure of five individuals of different organizations in March

Individuals Basic salary
मूल वेतन

(in Rs.)

Total allowance 
कुल भत्ता

(in Rs.)

Total deduction

कुल कटौती
(in Rs.)

Net salary
शुद्ध वेतन

(in Rs.)

P 21800 28600 --------- ---------

Q --------- --------- 4350 25850

R 10400 12400 2800 20000

S 11200 13800 --------- ---------

T --------- 21600 5700 ---------

Note:-
1. Total deduction = Provident fund deduction (Which is 10% 

of basic salary)+ others deductions.
2. Net salary =Basic salary + Total allowance – Total 

deduction.  
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Individ
uals

Basic salary
(in Rs.)

Total 
allowance 
(in Rs.)

Total 
deduction
(in Rs.)

Net salary
(in Rs.)

P 21800 28600 --------- ---------

Q --------- --------- 4350 25850

R 10400 12400 2800 20000

S 11200 13800 --------- ---------

T --------- 21600 5700 ---------

Q.1:- If other deduction of P was Rs. 4720 ,What was his net salary ?

यदि P की अन्य कटौती 4720 रु था, उसका शुद्ध वेतन क्या था?

(A) Rs42500 (B)Rs 43500 (C) Rs43000 (D)Rs41500 (E)Rs42000
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Individ
uals

Basic salary
(in Rs.)

Total 
allowance 
(in Rs.)

Total 
deduction
(in Rs.)

Net salary
(in Rs.)

P 21800 28600 --------- ---------

Q --------- --------- 4350 25850

R 10400 12400 2800 20000

S 11200 13800 --------- ---------

T --------- 21600 5700 ---------

Q.2:- If Q’s total allowance was Rs. 3000 more than his basic salary

what was his total allowance?

यदि Q का कुल भत्ता उनके मूल वेतन से 3000 रु अदिक था। उनका कुल

भत्ता क्या था?(A) Rs17000 (B)Rs 17500 (C) Rs16000 (D)Rs16600 (E)Rs15000
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Individ
uals

Basic salary
(in Rs.)

Total 
allowance 
(in Rs.)

Total 
deduction
(in Rs.)

Net salary
(in Rs.)

P 21800 28600 --------- ---------

Q --------- --------- 4350 25850

R 10400 12400 2800 20000

S 11200 13800 --------- ---------

T --------- 21600 5700 ---------

Q.3:- If the ratio of Provident fund deduction to other deductions of S was 7:13 ,

what was S’s other deductions?

यदि S की भदवष्य दनदि कटौती का अन्य कटौदतय ों से अनुपात 7:13 था, त S की अन्य

कटौदतयााँ क्या थी ों?

(A) Rs2160 (B)Rs2080 (C) Rs2120 (D)Rs2040 (E)Rs1980
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Individ
uals

Basic salary
(in Rs.)

Total 
allowance 
(in Rs.)

Total 
deduction
(in Rs.)

Net salary
(in Rs.)

P 21800 28600 --------- ---------

Q --------- --------- 4350 25850

R 10400 12400 2800 20000

S 11200 13800 --------- ---------

T --------- 21600 5700 ---------

Q.4:- Basic salary of S is what percent more than that of R?

S का मूल वेतन R के मुकाबले दकतना प्रदतशत अदिक है?

(A) 6 4/13% (B)5 7/13% (C) 9 9/13% (D)11 7/13% (E)7 9/13%
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Individ
uals

Basic salary
(in Rs.)

Total 
allowance 
(in Rs.)

Total 
deduction
(in Rs.)

Net salary
(in Rs.)

P 21800 28600 --------- ---------

Q --------- --------- 4350 25850

R 10400 12400 2800 20000

S 11200 13800 --------- ---------

T --------- 21600 5700 ---------

Q.5:- If other deduction of T was RS. 4000 , what was his net salary ?

यदि T की अन्य कटौती 4000 रु थी, उसका शुद्ध वेतन क्या था?

(A) Rs32500 (B)Rs31900 (C) Rs32700 (D)Rs31700 (E)Rs32900



\Directions (1–5): Study the following graph and answer the following questions.

दनिेश (प्र.1–5):- दिए गए आरेख क ध्यान से िेखे और पूछे गए प्रश्न का उत्तर िे |
The following table shows the distribution of number of Employees of different department on 

the basis of their performance, but still some data are missing from the table.  

दनम्न तादलका उनके प्रिशशन के आिार पर दवदभन्न दवभाग के कमशचाररय ों की सोंख्या के दवतरण क 

िशाशती है, लेदकन तादलका से कुछ आोंकड़े दछपे हुए हैं।

Departme

nt

Performance

Avera

ge

Good Excelle

nt

Total

Marketing 20

IT 30

Productio

n

10 160

Total 150

Important facts:-

1.Half the employees were excellent and good.

2. 40% of the employees were from Production. 

3. One third of the marketing employees were 

average. 

4. 60% of average employees were from production

महत्वपूणश तथ्य:-

1. आिे कमशचारी उतृ्कष्ट और अचे्छ प्रिशशन के थे।

2. 40% कमशचारी उत्पािन से थे।

3. दवपणन कमशचाररय ों में से एक दतहाई औसत थे।

4. औसत कमशचारी का 60% उत्पािन से थे
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Department

Performance

Avera

ge

Good Excellent Total

Marketing 20

IT 30

Production 10 160

Total 150

Q.1:- The number of excellent employees working in the Marketing department is what

percent of the total number of employees working in that department? (Rounded off to

the nearest integer)

दवपणन दवभाग में काम करने वाले उतृ्कष्ट कमशचाररय ों की सोंख्या उस दवभाग में काम करने वाले

कमशचाररय ों की कुल सोंख्या का दकतना प्रदतशत है? (दनकटतम पूणाांक)

(A)17% (B)21% (C)13% (D)9% (E)None of these
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Department

Performance

Avera

ge

Good Excellent Total

Marketing 20

IT 30

Production 10 160

Total 150

Q.2:- What is the respective ratio between the number of good employees working

in the marketing department and the number of average employees in production

department?

दवपणन दवभाग में काम करने वाले अचे्छ कमशचाररय ों की सोंख्या और उत्पािन दवभाग में

औसत कमशचाररय ों की सोंख्या के बीच सोंबोंदित अनुपात क्या है?

(A)3:2 (B)2:3 (C)4:5 (D)1:1 (E)None of these
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Department

Performance

Avera

ge

Good Excellent Total

Marketing 20

IT 30

Production 10 160

Total 150

Q.3:- Which department have maximum percentage of excellent

employees?

दकस दवभाग में उतृ्कष्ट कमशचाररय ों का प्रदतशत सबसे अदिक हैं?

(A) Marketing (B)IT (C)Production (D)CND (E)None of these
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Department

Performance

Avera

ge

Good Excellent Total

Marketing 20

IT 30

Production 10 160

Total 150

Q.4:- What proportion of good employees from production department?

उत्पािन दवभाग से अचे्छ कमशचाररय ोंका दहस्सा क्या है?

(A) 3/16 (B)1/4 (C)3/4 (D)1/5 (E)None of these
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Department

Performance

Avera

ge

Good Excellent Total

Marketing 20

IT 30

Production 10 160

Total 150

Q.5:- What is the difference between the number of average employees working

in the marketing department and the number of good employees in production

department?

दवपणन दवभाग में काम करने वाले औसत कमशचाररय ों की सोंख्या और उत्पािन दवभाग

में अचे्छ कमशचाररय ों की सोंख्या के बीच क्या अोंतर है?

(A) 20 (B)30 (C)15 (D)10 (E)None of these
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Study the table below and answer the given question. 

Some data is missing in the table. Table shows data regarding Rs.20 notes received by 5 different banks during demonetization

Banks Total no. of notes 
received by banks

% of notes on which 
100% return is given

50% return : 80% 
return 

Total value of Rs.20
notes received  by 

bank(in Rs.)

PNB 15000 --------- 5:7 ---------

SBI --------- 80% --------- 900000

Axis 10000 --------- 1:4 ---------

BOI --------- 75% 3:5 ---------

BOB 24000 --------- --------- 480000

Note:- 1) Return is the amount (face value of note) of note returned by the bank to its customer.
2) Each bank has given of minimum 50% return on all notes received by it. 
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Banks Total no. of 
notes 

received by
banks

% of notes on 
which 100% 

return is 
given

50% return 
: 80% 
return 

Total value 
of Rs.20

notes 
received  by 
bank(in Rs.)

PNB 15000 --------- 5:7 ---------

SBI --------- 80% --------- 900000

Axis 10000 --------- 1:4 ---------

BOI --------- 75% 3:5 ---------

BOB 24000 --------- --------- 480000

Q.1:- If difference of notes on which 50% return is given and on which 80%

return is given of PNB is 1000 , then find number of notes on which 100% is

given by PNB are what percent of total notes received by BOB?

यदि PNB में 50% और 80% बिले जाने वाले न ट ों का अोंतर 1000 है | त PNB में

100% बिले आने वाले न ट , BOB द्वारा बिले गए कुल न ट का दकतना % है ? 

(A) 12.5% (B) 45% (C) 37.5% (D) 40% (E) None of these
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Banks Total no. of 
notes 

received by
banks

% of notes on 
which 100% 

return is 
given

50% return 
: 80% 
return 

Total value 
of Rs.20

notes 
received  by 
bank(in Rs.)

PNB 15000 --------- 5:7 ---------

SBI --------- 80% --------- 900000

Axis 10000 --------- 1:4 ---------

BOI --------- 75% 3:5 ---------

BOB 24000 --------- --------- 480000

Q.2:- If total number of notes on which BOI gave 100% return and 50% return are

13500 then find total amount received by BOI is how much more or less than total

amount received by Axis Bank ?

यदि BOI द्वारा 100% और 50% बिले गए कुल न ट 13500 है | त BOI द्वारा प्राप्त की गई

रादश एक्सिस बैंक द्वारा प्राप्त रादश से दकतना कम या ज्यािा है?

(A) 40% (B) 60% (C) 37.5% (D) 35% (E) None of these
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Banks Total no. of 
notes 

received by
banks

% of notes on 
which 100% 

return is 
given

50% return 
: 80% 
return 

Total value 
of Rs.20

notes 
received  by 
bank(in Rs.)

PNB 15000 --------- 5:7 ---------

SBI --------- 80% --------- 900000

Axis 10000 --------- 1:4 ---------

BOI --------- 75% 3:5 ---------

BOB 24000 --------- --------- 480000

Q.3:- If ratio of notes on which (50% return : 80% return) is given by BOB is same as ratio of notes on

which (50% return : 80% return) is given by Axis Bank and number of notes on which BOB gave 100%

return are 20% less than total notes received by PNB, then find ratio of notes on which BOB gave 80%

return to that of on which it gave 100% return.

यदि न ट ों का अनुपात दजस पर (50% वापसी: 80% वापसी) BOB द्वारा दिया गया है, त न ट ों के

अनुपात के समान (50% वापसी: 80% वापसी) एक्सिस बैंक द्वारा दिया गया है और न ट ों की सोंख्या

दजस पर BOB ने 100% ररटनश दिया, वह PNB द्वारा प्राप्त कुल न ट ों से 20% कम है, दिर उन न ट ों के

अनुपात का पता लगाएों , दजन पर BOB ने 80% ररटनश दिया, दजस पर उसने 100% ररटनश दिया।
(A) 4:5 (B) 5:4 (C) 3:4 (D) 4:3 (E) None of these
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Banks Total no. of 
notes 

received by
banks

% of notes on 
which 100% 

return is 
given

50% return 
: 80% 
return 

Total value 
of Rs.20

notes 
received  by 
bank(in Rs.)

PNB 15000 --------- 5:7 ---------

SBI --------- 80% --------- 900000

Axis 10000 --------- 1:4 ---------

BOI --------- 75% 3:5 ---------

BOB 24000 --------- --------- 480000

Q.4:- If total no of notes received by BOI is 40% less than total number of

notes received by SBI , then find average number of Rs 20 notes received by

these five banks.

यदि BOI क प्राप्त कुल न ट ों की सोंख्या SBI क प्राप्त कुल न ट ों की तुलना में 40% 

कम है, त इन पाोंच बैंक ों द्वारा प्राप्त औसत 20 रु के न ट ों की सोंख्या ज्ञात करें।

(A) 24200 (B) 25000 (C) 20000 (D) 30000 (E) None of these
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Banks Total no. of 
notes 

received by
banks

% of notes on 
which 100% 

return is 
given

50% return 
: 80% 
return 

Total value 
of Rs.20

notes 
received  by 
bank(in Rs.)

PNB 15000 --------- 5:7 ---------

SBI --------- 80% --------- 900000

Axis 10000 --------- 1:4 ---------

BOI --------- 75% 3:5 ---------

BOB 24000 --------- --------- 480000

Q.5:-If Percentage of notes on which 100% return is given by PNB is 50%,

then find the amount earned by PNB in this whole transaction?

यदि ऐसे न ट ों का प्रदतशत दजस पर PNB ने 100% बिला ह 50% है। त इस लेन

िेन में PNB ने दकतनी रादश अदजशत की?

(A) 48750 (B) 48800 (C) 47750 (D) 47850 (E) None of these



THANKS


